CLASS: 9                                      NAME:

SECOND CONDITIONAL (druhá podmienková veta)
2. podmienka:
[bookmark: _GoBack]Vedľajšia veta -If + minulý čas, 
hlavná veta would + neurčitok slovesa 

A  Choose the correct word (vyber správne slovo):			
What would I look / took like with no hair? 
[image: http://rlv.zcache.com/haunted_house_with_ghosts_cut_outs-p153256133508381135env3c_400.jpg]I wouldn´t / doesn´t hold a tarantula. It must be horrible. 
Would / Have you eat a raw egg? No, I haven´t / wouldn´t. 
Your hair would do / grow again. 
I wouldn´t sleeping / sleep in a haunted house.
Would you shave / shaved you head?  
My sister wouldn´t die / dye her hair orange. My mum would go / went mad. 


B  Write in the second conditional (Dopíš v druhej podmienkovej vete): 
If I ......................... a big party, I ............................... all my friends. 		(have, invite)
If you ......................... your job, you ............................ around the world. 	(leave, travel)
Most people ........................... healthier if they .......................... exercise. 	(be, take)
I ...................... skiing every day if we ....................... near the mountains. 	(go, live)
You ........................... so tired if you ......................... to bed earlier. 		(not be, go)
If people ........................ more slowly, the roads ............................ safer. 	(drive, be)
If I ............................ someone´s wallet, I ................................ it. 		(find, not keep)
I .................................. if I ........................... wings. 				(fly, have)
If I ............................ rich, I .................................. a private plane. 		(be, buy)

image1.jpeg




